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Tén: Ngaythang:_ Piém:__
557 x 10> = 2% 10=
692+ 107V = 306 = 1003 =
3x 1072 = 223,3+10° =
508,5 x 10> = 100D =
107 = 524,3+ 107 =
1072 = 414,4+ 107 =
~1x 107 = 291,8 x 107 =
121,6 x 107D = 7% 10 =
2x 107 = 5% 1004 =
549,1 x 1071 = 6x 1002 =
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Tén:__ Ngaythang: _ Piém:____
557 x 10% = 55700 —2x10=-20
692 + 107" = 6920 306 + 107 = 306000
3x 1072 =0.03 223,3+ 10* = 2.233
508, 5 x 10> = 50850 1077 = 0.1
107% = 0.01 524,3 + 107 = 524300
1072 = 0.01 414, 4+ 107 = 414400
~1x 107 = —0.01 291, 8 x 1079 =29.18
121,6 x 1077 = 12.16 7% 10 =70
2% 1072 = 0.002 5x 107" = 0.0005
549,1 = 1079 = 54.91 6 x 1072 = 0.06
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